1.  tan60° x sin 30° — cos 30° X tan 45° ] ZH-&?

\/_

@ 0 ® @73 @ Vi @ O1

DN | =



ohe agel4 24 PQ 7 9 0 o A4
ol A B 7 AAY ©, zA0C 9] 7]

=9

@® 95° @ 100° ® 105°
@ 110° ® 115°




ol B
B o

0 O_E







5.

th I A Eol S T




ABC 9|4, AB = 14
A

@ 62 ® 7V2

® 92

D 52
@ 82



—_-

oh2 133} Zo] AABC 71

/N N
5.0ptAB, 5.0ptBC, 5.0ptC
o] Yolg FatH?

ZE°] 12em Q1 9 O o YHstL §l
o) Zolo] Hl7k4:3: 5 A W), AAOC

e

>

=

C

@ 24cm? @ 28 cm?2 ® 32em?

@ 36 Cm2 @ 40 Cm2



8. o= I1HolA A4 CP = 9 O o HAlolth. LCAP = 38> & f,
(BPC ¢] 27]& -stofzt.




o5 "4 & AA

PA, PB & 99| HAlol1

(AQB = 65° ¢ u, LAPB A
o 717

@® 30° @ 40° ® 50° @ 60° ® 70°



10. th& 2907 22 2474 ABCDO
A cosx 9] Ft= otoiet.

a & cosx




11. o TelA @ G7F AABC O] BAZAY 0, AAGC Y] HolS
Fajolat,




12. S 799 9 O oA 5.0ptBC = 5m,/BAC = 20° A qf,

5.0pt24.88pt/(1-3\c o} doj=?

A
|

B~—___-“C

@® 18n @ 22x ® 257 @ 307 ® 327



13.

o1, /E = 75° ¢ w, 2.COD




14.

chg 23t 2ol 424 ABCD o 94

AT AD gl A EE %S u, AB=B

oF
o

. /D = 110° o] B 7oA &7

O
—

Zatat,

Y
o

Q

[15]
H7]

@ /BAC = /BCA o]t}

© /ABC = 70° o]t}.

© aABC A /BAC = 55° o]tk
® ¢BEC + /BCA = 180° °|t}.

@ /BEC = 115° o]t}

5 S
=%




15. o2 1994 2298 ABCDE &= € 0 9 A
A5t ,COD = 40° € o, /B + /E 9 '
3717

@® 180° @ 185° ® 190° @ 195° ® 200°



16. ohe 2ol A P& F 9o AEelL AA TT & A P & Akt
Aol the 3 &4 ghe AL?

® /PDB = /PCA @ /BPT = /ACP
® /BPT = /BDP @ AC//BD

® BD:AC=AB:BP



17.

:bﬂﬂ%ﬂ%ﬂéﬂﬂ%aﬂ%ﬂﬁﬁﬂ

g o de o 2ol x 2 5131 41E BP I
ZolZ y et o y = x+2, xy = 35 O] o] AP T 1, 457
o] gk Fatofet




18. ohg 7 2ol F 910, 0 o] A2 ek, 9 07 o] o] F Ut
stu A FEAUH | T W F L0, O 9 WA Fo] 74

L 44, 90”8 HolE Fstofzt




19. g 23 Zo] ¥AE0] Po|7t sem
AR W= QoA At @/

O o ¥z 59] dol&?

@ (5V2-5)cm
@ (2v2-5)em

@ (4V2-5)em ® (3V2-5)cm
® (V2-5)cm



20. o2 1983} Zo] LADB = /BDC o|1L
AD=6,DE=2CD =34% o, EB
o] Aol&?

D3v2 @3v3 @5
@ 7 ® 11

A




